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ÍÛæ̃ Û¶ÛÛ :   ¸Ûó. 1 ¬Ûà ¸Ûó. 4 ¾ÛÛ¤éø 900 ÉÛ¼þùÛé ÍÛäµÛà¶ÛÛ ÅÛÛ×¼ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. 
Instruction : Write long answers for Q. No. 1 to Q. No. 4 upto 900 words : 
 
1. (…) ¸ÛóÛþéùÜÉÛïõ …¬ÛÙÉÛÛÍªÛ¶ÛÛé …¬ÛÙ …Û¸Ûà ¸ÛóÛþéùÜÉÛïõ ÜÈÛïõÛÍÛ¶ÛÛ Ü¶ÛþëùÉÛïõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 14 
  Give the meaning of regional economics and discuss in details the indicators of 

regional development. 
…¬ÛÈÛÛ/OR 

 (¼Û) •Ûä›÷ÁõÛ©Û¶ÛÛ ÜÈÛÜÈÛµÛ Ü›÷ÅÅÛÛ…Ûé¶ÛÛ …ÛÜ¬ÛÙïõ-ÍÛÛ¾ÛÛÜ›÷ïõ ÜÈÛïõÛÍÛ¾ÛÛ× þéù”ÛÛ©ÛÛ ©ÛºõÛÈÛ©Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Give the differences in the levels of socio-economic development of various 

districts of Gujarat. 
 

2. (…) 1960 ¬Ûà •Ûä›÷ÁõÛ©Û¶ÛÛ× ÍÛÛ“ÛÁõ©ÛÛ …¶Ûé ÉÛÐéüÁõàïõÁõ¨Û¶ÛÛ ÈÛÅÛ¨ÛÛé þùÉÛÛÙÈÛÛé …¶Ûé ©Ûé¶Ûà ¸ÛÛ™öÇ¶ÛÛ ïõÛÁõ¨ÛÛé 
ÍÛ¾Û›ÛÈÛÛé.  14 

  Give the trends of literacy and urbanization in Gujarat since 1960 and analyse these 
trends in detail. 

…¬ÛÈÛÛ/OR 
 (¼Û) 1960¬Ûà •Ûä›÷ÁõÛ©Û¾ÛÛ× ¾Ûè©ýÛäþùÁõ …¶Ûé ÍÛÁéõÁõÛÉÛ …ÛýÛäÌýÛ¶ÛÛ ÈÛÅÛ¨ÛÛé …¶Ûé …Û ÈÛÅÛ¨ÛÛé ¸ÛÛ™öÇ¶ÛÛ ïõÛÁõ¨ÛÛé 

¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Give the trends of death rates and longevity/average life expectancy in Gujarat 

since 1960 and analyse them in detail. 
 

3. (…) •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¾ÛÛ× …Û¼ÛÛéÐüÈÛÛ¶ÛÛ …ÛµÛÛÁéõ ¬ÛýÛéÅÛ ”Ûé©Û ÜÈÛÍ©ÛÛÁõÛé¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÝÍÛ˜ÛÛˆ¶Ûä× ¾ÛÐü«ÈÛ 
þùÉÛÛÙÈÛÛé ©Û¬ÛÛ •Ûä›÷ÁõÛ©Û¶Ûà ¶ÛÛ¶Ûà …¶Ûé ¾ÛÛé¤øà ÝÍÛ˜ÛÛˆ ýÛÛé›÷¶ÛÛ…Ûé¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé. 14 

  In the context of agro-climatic zones, write a note on importance of irrigation in 
Gujarat and give an idea of small and medium irrigation schemes in the State.  

…¬ÛÈÛÛ/OR 
 (¼Û) •Ûä›÷ÁõÛ©Û¾ÛÛ× ”Ûé©Û-¸ÛéþùÛÉÛ¶ÛÛ ”ÛÁõàþù-ÈÛé˜ÛÛ¨Û¶Ûà ¸Û±ùÜ©Û…Ûé ¸ÛÁõ ÍÛÜÈÛÍ©ÛÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a detailed note on agricultural marketing in Gujarat. 
 

4. (…) •Ûä›÷ÁõÛ©Û¶ÛÛ þùÈÛÛ (ºõÛ¾ÛÛÙ) Š²Ûé•Û¶ÛÛ ÈÛèÜ±ù, ÜÈÛïõÛÍÛ, ¾ÛÐü«ÈÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 14 
  Write a detailed note on growth, development, importance and weakness of 

pharmaceutical industry of Gujarat. 
…¬ÛÈÛÛ/OR 

 (¼Û) •Ûä›÷ÁõÛ©Û¶ÛÛ ïõÛ¸Û¦ø Š²Ûé•Û¶ÛÛ ÈÛèÜ±ù, ÜÈÛïõÛÍÛ, ¾ÛÐü«ÈÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write a detailed note on growth, development, importance and weakness of textile 

industry of Gujarat. 
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5. ¶Ûà˜Ûé ¾ÛÛ¤éø …Û¸ÛéÅÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ÉÛÛéµÛÛé. 14 
 Choose the correct option for the following : 
 (1) ¸ÛóþéùÉÛÛé ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û¶Ûä× ïõÛÁõ¨Û ¶Ûà˜Ûé¾ÛÛ×¬Ûà ïõýÛä× •Û¨ÛÛýÛ ¶ÛÜÐü ? 
  (…) …íéÜ©ÛÐüÛÜÍÛïõ ïõÛÁõ¨ÛÛé 
  (¼Û) …Û¼ÛÛéÐüÈÛÛ¶Ûé ÅÛ•Û©ÛÛ ïõÛÁõ¨ÛÛé 
  (ïõ) ÍÛÛ×ÍïèõÜ©Ûïõ 
  (¦ø) Š¸ÛÁõÛéî©Û¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÐüá 
  Which of the following is not a reason for regional disparities ? 
  (a) Historical factors 
  (b) Climatic factors 
  (c) Cultural factors 
  (d) None of the above 
 

 (2) 2011¶ÛÛ ÍÛé¶ÍÛÍÛ (ÈÛÍ©Ûà •Û¨Û©ÛÁõà¶ÛÛ …Û×ïõ¦øÛ) ¾Ûä›÷¼Û •Ûä›÷ÁõÛ©Û¾ÛÛ× ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ ïéõ¤øÅÛà ™öé ? 
  (…) 300 ¬Ûà ÈÛµÛÛÁéõ ¸ÛÁ×õ©Ûä 600 ¬Ûà …Ûé™öà 
  (¼Û) 250 ¬Ûà …Ûé™öà 
  (ïõ) 600 ¬Ûà ÈÛµÛÛÁéõ 
  According to Census of 2011, density of population in Gujarat is  
  (a) more than 300 but less than 600 
  (b) less than 250 
  (c) more than 600 
 

 (3) ¶Ûà˜Ûé¾ÛÛ×¬Ûà ïõýÛÛé •Ûä›÷ÁõÛ©Û¶ÛÛé ¾ÛÐü«ÈÛ¶ÛÛé ¸ÛÛïõ ¶Û¬Ûà ? 
  (…) œ÷Áä×õ 
  (¼Û) ¾Û•ÛºõÇà 
  (ïõ) ©Û¾ÛÛïä×õ 
  (¦ø) ÁõÛ•Ûà/¶ÛÛ˜Û¶Ûà 
  Which of the following is not a major crop of Gujarat ? 
  (a) Cumin 
  (b) Groundnut 
  (c) Tobacco 
  (d) Ragi 
 

 (4) ¶Ûà˜Ûé¾ÛÛ×¬Ûà ïõˆ •Ûä›÷ÁõÛ©Û¶Ûà ”Ûé©Ûà¶Ûà ¾ÛýÛÛÙþùÛ ¶Û¬Ûà ? 
  (…) þäùïõÛÇ-•ÛóÍ©Û ÜÈÛÍ©ÛÛÁõÛé 
  (¼Û) …Ü¶ÛÜÊ˜Û©Û …¶Ûé ÈÛ«ÛÛ-…Ûé™öÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¬Û©ÛÛé ÈÛÁõÍÛÛþù 
  (ïõ) ›÷¾Ûà¶Û¶Ûä× ¸ÛóþäùÌÛ¨Û 
  (¦ø) Š¸ÛÁõ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÜÐü 
  Which of the following is not a weakness of agriculture in Gujarat ? 
  (a) Drought-prone areas 
  (b) Uneven distribution of rain  
  (c) Soil pollution 
  (d) None of the above 
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 (5) ¶Ûà˜Ûé¶ÛÛ ïõýÛÛ ïõÛÁõ¨Û¬Ûà •Ûä›÷ÁõÛ©Û ”Ûé©Ûà “ÛéªÛ¾ÛÛ× ÈÛèÜ±ù¶Ûà ©ÛïõÛé ÈÛµÛà ™öé ? 
  (…) ïõÁõÛÁõ¬Ûà ”Ûé©Ûà ©Û¬ÛÛ ï×õ¸Û¶Ûà …ÛµÛÛÜÁõ©Û ”Ûé©Ûà 
  (¼Û) †¶ºõÛé¾ÛëÉÛ¶Û ¤éøïõ¶ÛÛéÅÛÛéœ÷ 
  (ïõ) (…) ©Û¬ÛÛ (¼Û) ¼Û·Ûé ÍÛÛ˜ÛÛ ™öé. 
  Which of the following increases the opportunity of agricultural growth in Gujarat ? 
  (a) Corporate and Contract Farming 
  (b) Information Technology 
  (c) Both (a) and (b) 
 
 (6) ™öéÅÅÛÛ× ïéõ¤øÅÛÛ×ïõ ÈÛÌÛÛë¾ÛÛ× •Ûä›÷ÁõÛ©Û÷ ÁõÛšýÛ¶ÛÛ –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ¶ÛÛé ÈÛèÜ±ù þùÁõ ½ÛÛÁõ©Û¶Ûà ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ 

ïõÁõ©ÛÛ× ÈÛµÛä× ÁõÔÛé ™öé. …Û ÜÈÛµÛÛ¶Û 
  (…) ÍÛÛ˜Ûä× ™öé 
  (¼Û) ”ÛÛé¤ä×ø ™öé 
  In the last few years, the growth of Gujarat State domestic products has been higher 

than the growth of National Income of India. This statement is  
  (a) True 
  (b) False  
  
 (7) ™öéÅÅÛÛ× þùÛýÛïõÛ¾ÛÛ× •Ûä›÷ÁõÛ©Û¶ÛÛ …Ûíé²ÛéÜ•Ûïõ “ÛéªÛ¶ÛÛé ÈÛèÜ±ù þùÁõ •Ûä›÷ÁõÛ©Û¶ÛÛ ”Ûé©Ûà “ÛéªÛ¶ÛÛ ÈÛèÜ±ù þùÁõ 

ïõÁõ©ÛÛ× …Ûé™öÛé ÁõÔÛé ™öé. …Û ÜÈÛµÛÛ¶Û, 
  (…) ÍÛÛ˜Ûä× ™öé 
  (¼Û) ”ÛÛé¤ä×ø ™öé 
  The growth of industrial sector of Gujarat has been lower than the growth of 

agricultural sector of Gujarat in the last decade. This statement is  
  (a) True 
  (b) False 
 
 (8) •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¾ÛÛ× ÁõÛéïõÜ¦øýÛÛ ¸ÛÛïõ ”ÛÛÍÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¬Û©ÛÛ ¶Û¬Ûà. …Û ÈÛÛîýÛ, 
  (…) ÍÛÛ˜Ûä× ™öé. 
  (¼Û) ”ÛÛé¤ä×ø ™öé. 
  Gujarat does not grow many cash crops. This statement is  
  (a) True 
  (b) False 
 
 (9) ›÷¶¾Û þùÁõ …é¤øÅÛé ïõÛéˆ ¸ÛóþéùÉÛ¾ÛÛ× þùÁéõïõ 100 ¾ÛÛ¨ÛÍÛÛé¶Ûà ÈÛÍ©Ûà þùÁõ¾ýÛÛ¶Û ¬Û©ÛÛ ›÷¶¾ÛÛé. …Û ÈýÛÛ”ýÛÛ. 
  (…) ÍÛÛ˜Ûà ™öé. 
  (¼Û) ”ÛÛé¤øà ™öé. 
  Birth rate means number of live births in a region per 100 people. This definition is 
  (a) True 
  (b) False 
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 (10) ™öéÅÅÛÛ× ¼Ûé ÍÛé¶ÍÛÍÛ ¾Ûä›÷¼Û •Ûä›÷ÁõÛ©Û¾ÛÛ× ÍªÛà-¸ÛäÂúÌÛ ›ÛÜ©Û ¸Ûó¾ÛÛ¨Û, ½ÛÛÁõ©Û¶ÛÛ ›ÛÜ©Û ¸Ûó¾ÛÛ¨Û ïõÁõ©ÛÛ× ÈÛµÛä 
ÁõÔä× ™öé. …Û ÈÛÛîýÛ 

  (…) ÍÛÛ˜Ûä× ™öé. 
  (¼Û) ”ÛÛé¤ä×ø ™öé. 
  Gender-ratio in Gujarat is higher than that of India according to last two census. 

This statement is  
  (a) True 
  (b) False 
 
 (11) ›ÛÜ©Û ¸Ûó¾ÛÛ¨Û …é¤øÅÛé ïõÛéˆ …éïõ ÜÈÛÍÛÛ©ÛÁõ¾ÛÛ× ïõÛéˆ …éïõ ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û, 1000 ¸ÛäÂúÌÛ¶Ûà ÍÛ×”ýÛÛ¾ÛÛ× 

ÁõÐéüÅÛ ÍªÛà…Ûé¶Ûà ÍÛ×”ýÛÛ. …Û ÈýÛÛ”ýÛÛ 
  (…) ÍÛÛ˜Ûà ™öé 
  (¼Û) ”ÛÛé¤øà ™öé 
  Gender ratio means number of women per thousand men during a given year in a 

given region. This definition is  
  (a) True 
  (b) False 
 
 (12) •Ûä›÷ÁõÛ©Û¶Ûà –ÛÁéõÅÛä× ¸ÛéþùÛÉÛ¾ÛÛ× •Ûä›÷ÁõÛ©Û¶ÛÛ ”Ûé©Ûà “ÛéªÛ ïõÁõ©ÛÛ× •Ûä›÷ÁõÛ©Û¶ÛÛ …Ûíé²ÛéÜ•Ûïõ “ÛéªÛ¶ÛÛé ºõÛÇÛé ÈÛµÛä× 

™öé. …Û ÈÛÛîýÛ 
  (…) ÍÛÛ˜Ûä× ™öé. 
  (¼Û) ”ÛÛé¤ä×ø ™öé. 
  Industrial sector of Gujarat contributes higher to State Domestic Product than its 

agricultural sector. This statement is 
  (a) True 
  (b) False 
 
    (13) •Ûä›÷ÁõÛ©Û ÁõÛšýÛ¶Ûà ¸ÛÛé©ÛÛ¶Ûà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û ¶Û ÐüÛéÈÛÛ¬Ûà ÁõÛšýÛ¾ÛÛ× ½ÛÛÁõ©Û¶Ûà …Ûíé²ÛéÜ•Ûïõ ¶ÛàÜ©Û¶ÛÛé 

›÷ …¾ÛÅÛ ¬ÛÛýÛ ™öé. …Û ÈÛÛîýÛ, 
  (…) ÍÛÛ˜Ûä× ™öé. 
  (¼Û) ”ÛÛé¤ä×ø ™öé. 
  Gujarat does not have its own Industrial policy and follows India’s Industrial 

Policy only. This is  
  (a) True 
  (b) False 
 
 (14) •Ûä›÷ÁõÛ©Û¶ÛÛé ½ÛÛÁõ©Û¶ÛÛ …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÈÛé¸ÛÛÁõ¾ÛÛ× ºõÛÇÛé 
  (…) ¾ÛÐüþù …×ÉÛé ™öé. 
  (¼Û) ¶ÛÜÐüÈÛ©ÛÕ ™öé. 
  Contribution of Gujarat State in International trade is 
  (a) significant 
  (b) insignificant 

________ 
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